N of reco track vs dxy(PV) N of associated (recoToSim) tracks vs dxy(PV) N of associated (recoToSim) looper tracks vs dxy(PV)

4] %] %] ]
X x B4 x
Q [*] o o
s S g g
£ s B 5
E k] g
. =
M =1
. i=}
L..:.
10°
o Lu 1 1 1 1 i 1 1 1 1 o o iu °
s : 3 3 N 3
id 4 i H i
- - - I -2 i
ootbid b b N U U U o P S I
'=25-20-15-10-5 0 5 10 15 20 25 "=25-20-15-10-5 0 5 10 15 20 25 : 25—20 15 10 5 O 5 10 15 20 =25-20-15-10-5 0 5 10 15 20 25
trac V(PV) (pm) } L s track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
] ottgtat £
E— i—p rain
T DOMEI—Db rain
N of reco track vs  ———— D —XI—/pP rain by (PV)
g ¥ g g g
S 10'E 3 WF § 5
E s f 8 g
r r =
10°F 10°F 3
10°F 10°F
10F 10
= 1L
9 L.V F 9 ERVE F 9 9 L.V
© I © T
i o i i
- W - i 3
S . ; T i et i SR
o =1 0 8—0 6—0 4020 02040608 1 0 =1 0 8—0 6—0 4-0. 20406038 o =1 —0 8—0 6—0 402 0 0.20. 4 0. 6 0. 8 1 o =1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8
track dxy(PV) (cm) xy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
%] %] [4] ]
2 2 2 2 :
g g g g
= 10 ‘é 10 E— § g
E F = g
r =
10°E 10°F 3
10°F 10°F
10 ; 10
1 : 1L HE
o suofpst o wuf o -
: : : MMM :
id 4 i 4
P ; S | P I "El""""il"" E"l ...
°¥P—=20 -10 0 10 20 30 °¥P—=20 -10 0 10 20 30 °¥P/ =20 -10 0 2030 0¥/ =20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
2] 1%} 123 0
3 S ] o]
8 g g g
- 3 § 10 5
g g 10 §
=
=]
o
10°
10 :
° o ﬁi ST
KX : : ]
— : o o o H y H y
N |||E|||||||||||||||||||||||M Il ||||||||||||||E||| T
x i i H H H :
R A 1 O O
1 1 H H H H
098 5 0 1 R 0 0BT 05 0 1 0¥ =05 0 05 T

track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)



	Contents
	Page 1


